Potencias de 10 (A)

59+ 1000

501000

201000

43 +1000

47 +1000

44 - 1000

301000

7-+1000

47 +1000

71 +1000

Calcule los siguientes cocientes.

831000

521000

91000

68 = 1000

351000

51000

75 <1000

61000

13 +1000

78 1000
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Potencias de 10 (A) Respuestas

59 = 1000
0.059
501000
0.05
201000
0.02
43 + 1000
0.043
47+ 1000
0.047
44 + 1000
0.044
301000
0.03
7-+1000
0.007
47+ 1000
0.047
71 +1000
0.071

Calcule los siguientes cocientes.

831000
0.083
521000
0.052
91000
0.009
68 + 1000
0.068
351000
0.035
51000
0.005
75 <1000
0.075
61000
0.006
13 +1000
0.013
78 +1000
0.078
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